OMB CONTROL NO. 0579-0088 DATE PREPARED 3/13/2023

TITLE OF INFORMATION COLLECTION REQUEST (ICR)

Domestic Quarantine Regulations

Additional line for ICR Title if title is too long.											
PART I - ICR INFORMATION, POINT OF CONTA	ACT, FEDERAL REGISTER I	NOTICE INFOR	MATION							DATA SUMMARY	
TYPE OF REQUEST										TAL RESPONDENTS NNUAL RESPONSES	
POINT OF CONTACT (POC)	POINT OF CONTACT (POC) Hannah Ragonesi POC TELEPHONE NO. (919) 818-2700										
DATE PREPARED	RESPONSES	% ELECTRONIC S PER RESPONDENT									
PUBLIC COMMENT DOCKET NO.		TOTAL BURDEN HOURS									
FEDERAL REGISTER NOTICE	HO	URS PER RESPONSE	0.27569								
FEDERAL REGISTER DATE		% SMALL ENTITIES	0%								
PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Request for Inspection and Limited Permit (State) (BSR, IFA, ELC, ALB, FF, GM, PSB, GN)	7 CFR 301 .32-4, .38-7, .45-8, .50-8, .51-8, .81-9, .85-7 .91-8	PPQ 537	Info System		S1	×	I	50	50	0.017	1
Request for Inspection and Limited Permit (Farm) (BSR, IFA, ELC, ALB, FF, GM, PSB, GN)	.32-4, .38-7, .45-8, .50- 8, .51-8, .81-9, .85-7 .91-8	PPQ 537	Info System	E	P2		I	15	150	0.017	3
Request for Inspection and Limited Permit (Business) (BSR, IFA, ELC, ALB, FF, GM, GN)	.32-4, .38-7, .45-8, .51- 8, .81-9, .85-7, .91-8	PPQ 537	Info System	E	P1		I	200	2,000	0.017	34
Request for Inspection and Federal Certificate (State) (BSR, GM, IFA)	.38-5, .45-5, .81-5	PPQ 540	Paper		S1		I	50	12,500	0.167	2,088
Request for Inspection and Federal Certificate (Business) (GN, GM)	.45-5, .85-8	PPQ 540	Paper	E	P1		I	48	1,632	0.167	273

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Request for Inspection and Federal Certificate (Individual) (ALB, GM)	.45-5, .51-7	PPQ 540	Paper	E	ı	×	ı	8	42	0.167	8
Request for Inspection and Federal Certificate (Farm) (EAB, ALB, GM, BSR, FF, GN, PSB)	.32-8, .38-5 .45-5, .50- 5, .51-7, .53-5, .85-4	PPQ 540	Paper	E	P2	×	I	3,034	72,816	0.167	12,161
Request for Sticky Back Certificate and Authorization to Apply (Business) (GM, PSB, ALB, FF, IFA, GN, EAB)	.32-4, .38-7, .45-8, .50- 8, .51-8, .81-9, .85-7 .91-8	PPQ 527	Paper	E	P1		ı	640	295,200	0.017	5,019
Request for Sticky Back Certificate and Authorization to Apply (Farm) (GM, PSB, ALB, FF, IFA, GN, EAB)	.32-4, .38-7, .45-8, .50- 8, .51-8, .81-9, .85-7 .91-8	PPQ 527	Paper	E	P2		I	1,534	456,120	0.017	7,755
Request for Sticky Back Certificate and Authorization to Apply (Farm) (PSB)	.50-8	None	Paper	E	P2		I	1	10	0.017	1
Request for Inspection and Issuance of Limited Permit (State) (BSR, IFA, ALB, FF, GM, GN)	.32-8, .45-9, .50-5, .51- 7, .53-5	PPQ 530	Paper		S1		I	50	5,200	0.167	868
Request for Inspection and Issuance of Limited Permit (Business) (IFA, FF, GM)	.32-8, .45-9, .81-5	PPQ 530	Paper	E	P1		ı	21	2,184	0.167	365
Request for Inspection and Issuance of Limited Permit (Individual) (ALB)	.51-5	PPQ 530	Paper	Е	-	х	I	6	624	0.167	105

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Request for Inspection and Issuance of Limited Permit (Farm) (ALB, FF, GM, PSB, EAB)	.32-8, .45-9, .50-5, .51- 5, .53-5	PPQ 530	Paper	E	P2		ı	194	73,526	0.167	12,279
Signature and Acceptance: Emergency Action Notification (Business) (JB, P.ram, FF)	.32, .48, .92, Appendix 111C4	PPQ 523	PDF	E	P1		ı	25	150	1.000	150
Signature and Acceptance: Emergency Action Notification (Farm) (P. ramorum)	.92, Appendix 111C4	PPQ 523	PDF	E	P2		I	11	352	1.000	352
Receipt and Acceptance: Report of Violation (Business) (IFA)	.81; Appendix 111C4	PPQ 518	Paper	E	P1		I	1	1	1.000	1
Request for Inspection and Issuance: Compliance Agreements (State) (P. ramorum, IFA, GM, ALB, GN)	.51-5, .51-6, .92-6	PPQ 519	PDF		S1		I	50	1,000	1.250	1,250
Request for Inspection and Issuance: Compliance Agreements (Business) (P. ramorum, IFA, GM, ALB, GN, BSR, EAB, PSB, FF, JB)	.32-4, .32-6, .38-6, .45-6, .48-8, .50-8, .51-5, .51-6, .53-6, .81-6, .85-5, .85-7, .92-6	PPQ 519	PDF	E	P1	Х	I	2,722	13,610	1.250	17,013
Request for Inspection and Issuance: Compliance Agreements (Farm) (P. ramorum, IFA, GM, GN ALB, EAB, BSR, FF, PSB)	.32-4, .32-6, .38-6, .45-6, .50-8, .51-5, .51-6, .53-6, .81-6, .85-5, .85-7, .92-6	PPQ 519	PDF	E	P2		ı	893	4,465	1.250	5,582
Notice of New Information: Documents Sent to State Plant Regulatory Official (State) (GM)	.45-4, .45-8	Letter	PDF	E	S1		I	1	2	0.170	1

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Request for Inspection of Regulated or Outdoor Household Articles (State) (GM, IFA)	.45-7	None	Info System	E	S1		ı	50	450	0.030	14
Request for Inspection of Regulated or Outdoor Household Articles (Farm) (GM)	.45-7	None	Info System	E	P2		ı	14	126	0.030	4
Request for Inspection of Regulated or Outdoor Household Articles (Business) (GM, GN, IFA)	.45-9, .81-8, .85-8	None	Info System	E	P1		ı	208	1,040	0.030	32
Requirement for Annual Report of Inspection and Freedom from Black Stem Rust to Maintian as Protected Area (State) (BSR)	.38-3	None	Info System	E	S1		ı	7	35	0.500	18
Notice of Requirements to Become a Qualified Certified Applicator for Regulatory Pest Treatments and Controls (Business)	.45-1	None	Paper	E	P1		ı	1	1	13.000	13
Notice of Requirements to Move Regulated Articles in Interstate Commerce and Signature Certifying Acceptance (Farm) (GM)	.45-4	Letter	Paper	E	P2		I	120	240	0.250	60
Notice of Requirements to Move Regulated Articles in Interstate Commerce and Signature Certifying Acceptance (Individual)	.45-4	Letter	Paper	E	ı		1	1	1	0.250	1
Disposal of Regulated Articles and Pests (Business)	.48-5, .52-8, .80-8, .85-8	None	Info System	Е	P1		-	1	1	1.000	1

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Requirements for Moving Soil Samples to an Approved Laboratory for Testing (Phone Call to Local PPQ Office) (State) (IFA)	.81-4	None	Call	E	S1		ı	1	1	0.500	1
Requirements for Moving Soil Samples to an Approved Laboratory for Testing (Phone Call to Local PPQ Office) (Business) (IFA)	.81-4	None	Call	E	P1		I	1	1	0.500	1
Cancellation of a Certificate, Limited Permit, or Compliance Agreement (Business)	.81-7	Letter	Info System	E	P1		I	1	1	1.000	1
Written Appeal of Suspended Certificate for Imported Fire Ant Detection, Control, Exclusion, and Enforcement Program (Business) (IFA)	Appendix IIIC4	Letter	Paper	E	P1		I	1	1	1.000	1
Written Appeal of Suspended Certificate for Imported Fire Ant Detection, Control, Exclusion, and Enforcement Program (Phone call to office) (State) (IFA)	Appendix IIIC4	Letter	Paper	E	S1		ı	3	52	1.000	52
Written Warning of Imported Fire Ant Violation (State) (IFA)	Appendix 111D7	None	Paper	E	S1		I	1	1	3.000	3
Notice of Process for Issuance and Cancellation of Certificates (State)	.92-5, .51-5	None	Info System	E	S1		I	50	50	2.000	100
Notice of Process for Issuance and Cancellation of Certificates (Business)	.92-5, .51-5	None	Info System	E	P1		I	340	340	1.000	340

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Notice of Process for Issuance and Cancellation of Certificates (Farm)	.92-5, .51-5	None	Info System	E	P2		ı	420	420	1.000	420
Notice of Requirements for Treatment (Soil, Greenery, Debarking) (Business)	.92-10	None	Paper	E	P1		ı	1	1	1.000	1
Process for Requesting Appeal of Decision to Cancel/Withdraw Compliance Agreements, Certificates, Limited Permits (Business)	.32-6, .38-5, .50-5, .51- 6, .75-12, .80-4, .87- 5, .95-5	None	Info System		P1		ı	1	1	1.000	1
Submission of Test Plant List and Evaluation for Biological Control Program (State) (New)	7 U.S.C. 7756	None	Info System	E	S1		ı	5	5	1.000	5
Submission of Test Plant List and Evaluation for Biological Control Program (Business)	7 U.S.C. 7756	None	Info System	E	P1		ı	9	9	1.000	9
Petition to Release Biological Agent (State)	7 U.S.C. 7756	None	Info System	E	S1		ı	5	5	2.000	10
Petition to Release Biological Agent (Business)	7 U.S.C. 7756	None	Info System	E	P1		1	9	9	2.000	18
Application to Move Live Plant Pests or Noxious Weeds (State)	7 U.S.C. 7756	PPQ 526	Info System	E	S1		I	5	5	0.167	1

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Application to Move Live Plant Pests or Noxious Weeds (Business)	7 U.S.C. 7756	PPQ 526	Info System	E	P1		I	9	9	0.167	2
Biological Control Work Plan (State)	7 U.S.C. 7756	None	Info System	E	S1		ı	5	5	3.000	15
Biological Control Work Plan (Business)	7 U.S.C. 7756	None	Info System	E	P1		ı	9	9	3.000	27
Cooperative Agreement (State) (ALB & BC)	7 U.S.C. 7756	None	Info System	E	S1		I	8	18	1.000	18
Cooperative Agreement (Business) (FF, BC)	7 U.S.C. 7756	None	Info System	E	P1		I	37	37	1.000	37
Cooperative Agreement (Farm) (ALB, FF, BSR)	7 U.S.C. 7756	None	Info System	E	P2		I	9	9	1.000	9
Special Needs Request to Impose More Restrictive Regulatory Controls on Interstate Movement of Articles Regulated by USDA (State)	.301-1	None	Info System	E	S1		ı	1	1	1.000	1
Request for Property Access to Inspect, Confirm Presence, Treat, or Control Regulated Plant Pests and/or Regulated Articles (Individual)	7 U.S.C. 7756	None	In person		I	Х	I	3,000	3,000	0.020	60

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Cancellation of a Certificate, Limited Permit, or Compliance Agreement (State) (New) IFA	.81-7	Letter	PDF	D	S1		I	2	4	1.000	4
DC Plant Health Certificate - not program specific it is for Phystsantiary requirements (New)	.11	PPQ 571	PDF	D	S2	Х	ı	1	10	0.250	3
Recordkeeping Requirements: Aircraft Treatment Records (Business) (JB)	Appendix 111C4	None	Info System	E	P1		R	1	1	100.000	100
Recordkeeping Under Compliance Agreements for P. Ramorum (State)	.92-8	None	Info System		S1		R	50	50	200.000	10,000
Recordkeeping Under Compliance Agreements for P. Ramorum (Business)	.92-8	None	Info System	E	P1		R	924	924	200.000	184,800